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1. 9 U9 99§ 31 9T € 3R vt A B w9 we v o ¥
This question paper contains two parts and you have to answer all questions in both the
parts. -

2 AT AT H A wvs § R @ 30 we €1 W Wo 1 ¥ 10 9@ B < aip uhy ww,
11 9 20 7% & O 35 URY 9 d 21 @ 30 @ wwEl @ Ui e uhy wee €

Part “A” Mathematics has three sections containing 30 questions. Q. Nos 1 to 10 carry 2
marks each, Q. Nos 11 to 20 carry 3 marks each and Q. Nos 21 to 30 carry 5 marks each.

3. AT g AT AEAr WeT H G 6 WO ¥ U 1 U9 2 D 15—15 3% § ud 9 5 @ik

8 @ 5-5 3P T | aTHl W FE B 10—10 3(F ¥ | TW AN D SR MY A N 7N &
AT # € form W )

Part “B” Language Ability Test contains 10 questions. Q. Nos 1 and 2 carry 15 marks each
and Q. Nos 5 and 8 carry 5 marks each. The remaining questions carry 10 marks each. In
this part you can write your answers in any one of the chosen language only.

4. MY YU IR el /Dol W A & ord | R /7 oy

Write your answer in Blue/Black ink only. Do not use pencil.

5. X6 B &7 T OE WA DR
All Rough Work is to be done at space provided.

6. 39 UE U A @ 27 WS § |
There are total 27 pages in the question paper.




ART ‘3’ TR /PART ‘A’ MATHEMATICS
quiies /Max. Marks :*100

@vs — |/SECTION -
(IA® 9 <1 AP BT §)

(Each question carries two marks)

Q1. 879 3R 338 B IR B 9ED e Awel § T BN |
Estimate the difference of 879 and 338 to the nearest hundred.

15m 1000 km &7 fba=m ufcera 21

Q.2.
Write 15 m as a percentage of 1000 km.

Q.3. 120,210 30 225 FT FOTOU0 ST D |

Find LCM of 120,210 and 225.
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Q5 13 @k 2L @ W
5 10

Find the sum of l% and 2%.

Q.6. TP TAE RN TF ©S F 1020 oo e T 4%%1%1#331%%131\—:[%'—?1{@@
Easll
An aeroplane covers 1020 Kms in an hour. How much distance will it cover

in 4l hours.
6.

Q7. 131" por Afvway dam F e w¥ |

Convert 131" F into Celsius scale.



Q.8. 2222 Tl B 37 3R w<l # 9<e |

Convert 2222 hours into days and hours. -

Q9. U aafEaE B < s S § ¥ U@ 55° 2 1 Brge @ o vl @1 | g
Ead

One of the two equal angles of an Isosceles triangle measures s55°. Find the
measure of all the angles of triangle.

Q.10. T& g 31 IR 70.2 |0 2| g @1 Froar =ma PIfG? afe n:%

Find the radius of a circle whose circumference is 79.2 cm. Given that
2
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(Each question carries three marks)

Q.11. 75 Tr 225 & e @t Wi gof of wew g |
Find the square numbers lying between 75 and 225.

Q.12. =1 &1 O B 125 - 25 X 125 + 25 + 25
Simplify: 125-25Xx125 +25+ 25

Q.43. T 7 P F 30 A/ 23 3w TT I A 50 A 20 ofF W A @Ry B FE
fawa F 3R fora it @ s s yex e
Sudha scored 23 marks out of 30 in maths and 29 marks out of 50 in Hindi.
In which subject did she perform better and by what percentage?



Q.14. 902, 1394 3R 3321 BT HOWO Y0 ST B |

Find the HCF of 902, 1394 and 3321.

Q.15. a1 7 e mfe @l @ fow 4000 wo 1z%aﬁfﬁma“rtﬂﬁwﬁma
a4 g% 99 fFa w9 clle™ 8t

Jubaida took a loan of Rs. 4000/- on 12% annual interest. After 3 vears how
much money she will have to return?

Q.16. = sa FiTw—

Find the square root of

9
(a) 6 36

41
(b) 5
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Q.17. qasmﬁma?mwﬁ:rﬁmaﬁoqarﬂm%lzaéﬁagmqylﬂml

A baby eiephant drinks around 12 litre of milk every day. How much milk
will it drink in two years? '

Q.18. Wil 30U+ WIS BR & BY WX 10 Wllo qolarel JufeR ege T amar 21 gl

Q.19.

wﬁs‘maﬁm@z.zwﬂoaa‘}g@ms’ﬁo%a‘rﬁmﬁmmmaﬁm

John plans to tile his kitchen floor with square tiles. Each side of the tile is

10 cm. His kitchen is 2.2 M long and 1.8 M wide. How many tiles will John
need?

Uﬁwﬁmﬁﬁma@\méaﬁsﬁﬁhﬁﬁmﬁmmlsﬂa%ﬁaﬁaﬁm
# @ @ forl fae ot =iy AR v a9 A 16 g o 2

There are 24 Laddoos in 1Kg. How many Laddoos will be there in.8 Kg? If

16 Laddoos can be packed in 1 box, how many boxes are needed to pack
all the laddoos?
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Q.20. uwwwﬁmmaﬁﬂawaﬁm [
Find the mean of first ten even numbers.

gvs —I/SECTION —llI
(IS YT Uid 3w @ 2)
(Each question carries five marks)

Q.21. &T ! T 3T F0 6,00,000 2| g8 a¥ F WIGT TR WO 99,250 HYL X WO 36,750

3R =0 FTAT UR WO 1,11,500 WY HIA 2| T8 ¥ R ¥ ol gug o 22 g@q
I DT Mg BT fa=r ufdga 2|

Annual Income of Rohan is Rs 6,00,000. He spends Rs. 99,250 on food, Rs.
36,750 on clothes and Rs. 1,11,500 on other expenditures annually. What is
his annual saving? What % of his income does he save in a year?
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Q.22. (a) fr=feRea i @1 w9 519 AR

Find the value of following angles :-
(i) ZBOC (i) / cop

A D

80“
100 0

(b) 20 3R 70 @1 HoROWO 3T oS ol A g1 sa @R |
Find HCF of 20 and 70 by prime factorization method.

Q.23. O R,
Simplify:

0.23.5-03{2.5+1.33.6+1.4))]
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Q.24. Fr=1 3ngfa &1 &Fma 9 URAT F1d H |

Find out perimeter and area of the given diagram.

15 cm

24 cm

12 cm

A
b

15cm

Q.25 ‘é‘cﬁ151110?&%3#\'1oﬁoﬁ$3ﬁmﬁo.5oaﬁﬁo$ﬁmﬁwmmm
2] 3} U TR WM & Wd w0 250 @ R A F ger Rew d fHow
IR |

How many stones of 0.50 M? can be fixed in a court yard of length 15 M and
width 10 M. if cost of fixing one stone is Rs. 2.50, what will be the
expenditure on fixing stones in the courtyard?
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Q.26. foul a1g & fsror § 15% @1, 25% e q7 99 qier £ 59 o1 D 60 U0
AT ¥ YAS G BT AT S DI |
An alloy contains 15% Carbon, 25% Zinc and rest is Copper. In 60 Kg alloy,
find the quantity of each metal.

Q.27. Raw w31 gfif ey

Fill in the blanks:-

-) s l
— == 0l=-
(=) 21~ =17 (=) ?
6:="% 1
(a) 517 () Ol= 2
() 7 3>l I wEH T R ——F () Far=am/?
= X : Diameter
(c) Largest 7digit number is ------cececcemeev (d} - Radiusi=———

(8) 75897 ¥ 8 w1 3 W 2)

(e) In 75897, place value of 8 is ==---mmenmmuee-
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Q.29.

S A o & 71 e 5 Bar € | aafie TR o Y |

The denominator of a fraction is greater than its numerator by 3. If 3 is
subtracted from the numerator and 2 is added to its denominator, the new
number become 1/5. Find the original number.

Ud PE H 40 BTF €| 60% ©IH U2 AN, 30% fawcha Soft 7 A ey Sof
Sahvl g | e By @ gy Aot @ Siiet Ruial & s s e o
T |

Out of 40 students of a class, 60% passed in first division, 30% in second

division and remaining in third division. Find out the number of students in
each category?
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Q.30 (P) TS THMER F W0 900 HT TP a4 15% G W 97| I B Apaqey
TR |

(a) A shopkeeper sells a box costing Rs. 900 giving 15% discount. Find
out the sale price of the box?

(@) < ARl &1 H0HO U0 3R TowWo Yo BHY: 18 3N 252 © IS TP G&AT 126
A T T T B |

(b) The HCF and LCM of two number is 18 and 252 respectively. If one
number is 126 find out another number?

h /A4



WRT ‘g’ 99T g/ PART ‘B’ : LANGUAGE ABILITY

Ui/ Max Marks :100

Q1. fF=fefes fvalf § @ 5w w 15 9o g, (15)

Write 15 sentences on anyone of the following topics:

T SR / My Friend
g /OR
W g BT dET/ Aim of my life
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Q2. fr=faRea Teiw @ eFgde U ek o ¥ Ry Ty @ SR o
G x 3 = 15)

| 98 AU WS BT Al 9% o WET & | GOl @ WeR 9 WI—%T BT 4 9ot <& £ |
98 SiFT Gl & |

@) #FT 9y W A ?

(@ o ol dor IR T e i ?

M Ao sgong & @ aref 2 7
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Read the following passage carefully and answer the questions that follow:

Florence Nightingale was born on the 15" May, 1820 at Florence in Italy and her
parents called her after the name of the city where she was born. Her main
ambition was to be a nurse and so she gave up all thoughts of marriage and
personal happiness. She spent years visiting hospital after hospital. Day and
night she visited every bed in the hospital to see that no patient was neglected
and that all were as comfortable as possible. However hard she might have
worked all day, every night she would take her lamp and move from bed to bed.
‘The Lady with the Lamp’ the soldiers called her and that is the name by which
the world has remembered her ever since. '

{a) Where was Florence Nightingale born  ?

............................................................................................................
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Q3 Frafaled Y@ifea st &1 g S SelT I A¢ 9reg 918U | (5X2=10)

T BICT dSdl &d UBlS WX 9¢ el ol | Sd! U R Udh deal HdN off
it M S SRS EG  -12 M 7 e = 1 i A e 2 s M-SR &
9 UMV Sea - FEl — ‘Gl 2 917 ? g8 sl ol A) 918 8, foRy {9 et
HY IR faorr g 1 el a7 IR AT iR U= 9 Anf W ud & |

e o
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Make a sentence on your own for each underlined word given in the following
passage. (Do not copy any sentence from the given paragraph)

People who live in regions covered with forests and surrounded by hills
generally believe that the desert is a vast stretch of dry, hot and sandy land. But those
who have studied it, find the desert quite beautiful. It is not entirely uninhabited either.
A variety of people, animals and plants make the desert their home.

(2) —

(b) e

(d) =

N
r



Q4 Ry Y w= W B B9 W formey adfyel areg ga— (5 x 2 = 10)

@) wuNa/mu/a/99 /99 9 |

@ RT/vH /TR E e /R

(1) = /98N /5 /W /N /Nash /9

(@) i/ ]/ SR/ geRn/ R / sra—erenT /R /amt § /S |

(®) e/ ar—faas /<a /39 /9@l /4 / )R@R

Form meaningful sentences by rearranging the words in proper order :-

(a) a good / exercise/swimming/is

(b) Middle East./'ndia/toithe/expcrting/isionions

(c) was/John/drinking /tea

(d) man /a strong /Sardar Patel/was

23



(f) némed | Diamond/had/Newtonllittle dog/a

Q.5 3% vml » oy v v fafag— (5 x 1 =5)
(@) s ST oIS guxr 7 @
@) @rE @ Aeg

() AT A TP IR B aren

() S PRI PR D AT &

(¥) T8l ugaArT Hfe &

Give one word for the following:-

(a) One who knows everything .......................
(b) A building in whichmonks live .......................ooooiiii
(c) A person whose profession is to keep accounts ..........................

(d)  All the customs and beliefs of asociety ......................cooiiiii.,

(e) Eaterofflesh .......................cooiiiiiiii.

Q6 el W B SR e W qR B (5 x 2 = 10)
@ o R T3 T ¥ (R i)
@ TAH R @ &) (ToRrl /7o)
(1) g8 TN A Radis o 21 (d1/D)
@ TN 9 SEA—CE . uF TS | (31T / 3T)
(8) UM R o faer Q1| (@R /T=R)
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Choose the correct article (a, an or the) and fill in the blanks
(a) Hereis ___ book | borrowed from you yesterday.
(b)  Jordan drives Mazda.

(c) Hegoesto__ Delhi Golf Course on Sundays.

(d) Jamesworksas  electrician.

{(e) Raman sang song.

fr=ieiliaa o=t @ e IR 3 A ok W - (5 x 2 = 10)
Use the given word in separate sentences of your own to show the
difference in the meaning of the words of the pair given below:-

(a) Principal, Principle /31, ara

(d) idle, idol /31, 3

(e) Floor, Flour /44, a9

25



Q.8

R o) aredl B Fidy @ SaR 95 B} o | (5 x 2 = 10)

(@) Ty A 2 | (Rrerfsie awg )

(@) uou H gF 9 3iRa Iear g8 | (Furere areg )

(M RemeffAr 5 deRmer srisa § 99 fomm | (e a9 e H)

(@) @ S @ <E GQEICECICR R

() o IRWR o e gfafeT a9 TRy | (FsTaEs aeg #)

Change each of the following as directed:-

| met an old man. (Change into Future Continuous)

The driver stopped the train. (Change into Passive Voice)

The Sky grew dark. ( Change into negative sentence)

Mr Verma teaches us grammar. { Change into Interrogative sentence)
Peter said, “Imran will not be playing the match.” (Change into indirect
sentence)

26



Q.9

Q.19

1 ford usi @ fem ug ford— (5x1=5 Marks)

(@) IFADA o
(B -Sew=ih. o

G B

(& 9T
() T o

Give the Antonym (opposite) of the following words:

(2) Arrest
(b) Boon
(c) Heaven
(d)  Grateful
(e) Bravery

wurETard B 9F ek e el @ TRe W T W) R oM @) $wel gwe
FIRA | (10)
Write a letter to the Principal requesting him to organize an educational
tour to Shimla.




